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Fluency
Eggs are sold in boxes of 10. 
Mark buys 27 boxes of eggs. 
How many eggs does he buy altogether?
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The numbers below are the amount of ice creams sold by three ice
cream shops. Use the clues to match the shop to their amount.

| 700 | | 410 | [ 70 | | @

ice Cream World sold 10 fimes more ice creams than Nick's Ices.

ice Ice sold 7 lofs of ten ice creams.

super Ice Creams sold 10 fimes more than Nice lce.
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Zainab and Kay have bought sweets for a parly.

Zainab says,

have 10 lofs of 45 sweets.
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Kay says,

Who has bought the most? Prove if.
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Chris buys a pack of crayons. There are 10 crayons in a pack.
Itfakes 350 crayons fo fill the drawer.

He buys 33 more packs.

Does Chris have enough crayons to fill the drawer?

Explain how you know.
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‘Complete the sentences.
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Which representation is the odd one out?
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